mean # PXL hits vs eta

Op—--------- ----------- Femeeeeeess :

Uy
J_.\Q:I 11 1 11 1 1 11 11 1 11 1 1 11 1 11 1 1
S0 W NS N N
lE ¢0’ . " ..“.. 00“ 0'.. ’.. ¢ ¢ R
[ eeennes Q¢¢ ................. '.¢’0 ........
0,95y | R
0.9L : : :
=3 -2 -1 0 1 2 3

| mean #

PXL Layers with measurement vs eta |

0.95

J--\.Q_I 1 1 1 ! 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 ! 1 1 1 1
i . : o
» *
Goo®, 14 : : : ¢;" "
[ %4 : 1. de
=eeeee ‘...l_..+.¢.+.“.o.,.m om..'n.Q .:...’ﬁ ....... ..0 .......
-3

e

mean # STRIP hits V|

—=— DQM_TT__mkFit_lowpT
—— DQM_TT__mkFit_BDT_lowpT

T

15_ """" L - --------- +

I
|IIII|IIII|IIII|IIII|IIII|IIII

W,




	Contents
	Page 1


